F 265 RUEHRERE NRTYMR—ILHEOER
I 15264 78 25H
R —9
TF ET 12 - 9 By E2
4 19 - 11 73 -
PN 73{ 5 - 14 }4 KB TE 101
B 27 - 11 mIB
TF F1 8 - 14 By F2
> a= 54{ i }4 i o8 TE 47
mA 9 - 14 A
"F E3 10 - 11 Bx E4
Y oxm 52{ e }6 A 2 THE 63
B 15 - 24 B
zF F3 24 - 10 By Fa
o e= 92{ 2 - }53 KiETE 2 TZ 64
25 - 14 A
FES BB SRR oKEHmirhER[EBBr a5 mI TRE PER
3L OB HILIEFFFR TEMILFERFR
Z7 Bl o<Eesym SFmuBEeegERME BT hil gl PR

3£

O f=-bLMHIIKEFFR

 fe T 3K 8 78 PR

— A A

27
15
27
32

12
19
11

20
13
10
20

22
10
18
14

18
21
27

19
20
16
17

15
15
25
22

A5
A

P
A

£

A

1£%
FA

##

47

63



